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Indications 
 

Please follow these indications: 

1. The exam lasts 3 hours. 

2. Please verify that your document contains exactly 13 pages. 

3. Sub-questions have different weights (provided for each). 

4. Answer in the spaces provided for. 

5. Please write your firstname and lastname on all pages. 

6. Good work!!! 

Questions 
Q1 Various sub-questions on valuation (3 points each) 

Please comment on the following sub-questions: 

(a) “In some countries, announcing the issuance of convertibles has a lower negative 
impact on the stock price than in other countries. The pecking order suggests that 
this impact is lower than for equity issuances but higher than for debt issuances.” 
Comment. 

Answer :  
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(b) Imagine that a firm may allocate 1€ either to the remuneration of debtholders or to 
the remuneration of shareholders.  In this firm, half of equity income is paid out as 
dividends (taxed at the personal level based on the personal income tax rate) and 
half is paid out through capital gains (not taxed). The tax rate on corporate income 
is 34%. What investor (from which tax level) would be indifferent to that allocation? 
Otherwise said, which tax-kind of investor would be indifferent between the firm 
spending 1€ as interest (to you as a debtholder) or 1€ as equity (to you as a 
shareholder) ? 

Answer : 

 

 

 

 

 

 

 

 

 

 

(c) Mention three (3) elements of the financing strategy considered/operated by Reed 
Elsevier when buying back Harcourt. 

Answer : 
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(d) Why would the use of the WACC be critical in a firm where the capital structure 
comprises a lot of convertibles? 

Answer : 

 

 

 

 

 

 

 

 

 

 

 

 

 

(e) Why would you choose the APV method instead of a WACC/NPV method?  

Answer : 
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Q2 Standard project valuation vs. the use of real options 
Freshly graduated from the Solvay Business School, you decide to create a joint company 
with some friends from Polytech. The idea is to launch a new media product. More 
precisely, you would like to install user-friendly computing terminals in malls and 
specialized stores that allow the user, for a given fee or forfeit, to create a copy-protected 
DVD with a choice of desired programs out from an impressive library. 

Thanks to a market study and an analysis of the costs, it appears that these devices 
should be installed first in private places open to the public like media stores and 
libraries. 100 first terminals would therefore be installed. This would allow to take 
advantage of the clientele coming to these places while benefiting from the security and 
the existing wiring. Thanks to that, earnings before interest, depreciation and 
taxes (EBITDA) can be estimated around € 1’500’000 per year. The initial investment, 
around € 5’000’000 is quite heavy since these equipments would be very expensive to 
develop at the beginning. 

We have the following additional information: 

– The corporate tax rate is 30%. 
– The riskfree rate is 5%. 
– The target leverage rate is 50% (D/V). 
– The depreciation of the investment is linear over 10 years. 
– The cost of capital if the firm was 100% equity-financed would be 14%. 

(a) Compute the WACC with the information you have available (simple MM’s 
framework) (2 points) 

 Answer : 

 

 

 

 

 

(b) What is the yearly cash-flow for the project? (2 points) 

Answer : 
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IMPORTANT: The following questions present a “chronological” computation of the 
elements of valuation. But in order to avoid interdependence between subquestions, 
i.e. a subquestion based on the result of the previous one, use the “preferred” value 
indicated for each previous subresult in each subquestion. The value indicated is a 
round value to make things simple and to allow you to continue the exercise in any 
case. This value is never equal to the real solution of the previous subquestion(s). 

(c) What is the NPV of the project? (3 points) 

Values to be used for this question and the following ones: 
– WACC = 13% 
– Annual cash-flow = € 1’500’000 
 

Answer : 
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(d) To stimulate the managers of the places where these machines will be installed, you 
would propose them with the following covenant in their contract: 

“At the end of the first 5 years of activity of the terminal, you are granted with a 
right of buying back the terminal at a fixed price of € 30’000 each (the remaining 
life of the terminal being 5 years then since it has a total life of 10 years).” 

In fact, the present value of cash-flows over the last 5 years is subject to some 
volatility. The volatility of relative changes in this value is estimated to be 15%.  

Do you think managers will find this right valuable? 
What is the value of the project if we now add the effect of this right? 

(7 points) 

Answer : 
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Q3 IPOs & Firm Valuation 
“LVSC Consultants Inc.” is a company dedicated providing consulting in the selection of 
tobacco leaves for the production of cigars. Tobacco leaves can be categorized into: ligero, 
volado, seco and leaves for the wrapper (capa). That’s where company’s name comes 
from. 

Since the blend of these leaves and the ability to select the best leaves for each category 
is essential for the quality of cigars, LVSC had a tremendous success. Subcontracting 
this work to LVSC is a guaranty of quality. Moreover, LVSC has become a tobacco rating 
agency and it centralizes all the information on the grow-up locations, year after year. 

The original owner-managers of LVSC have decided to go public. Going public seems to 
be a good way of exit for them, at least for part of their shares. And the market seems 
quite hot for the time being. 

As a consultant in IPO and other restructurings, LVSC managers ask you to help them 
in managing the IPO process and answer some of their questions. 

Remark: here we value a firm, not a project. 

(a) Please advise them on 3 main advantages of going public. Comment briefly. (3 points) 

Answer : 

1) 

 

 

 

 

 

2) 

 

 

 

 

 

3) 
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(b) Cite 2 typical new requirements, constraints or efforts that have to be beard by the 
firm when going public? (2 points) 

Answer : 
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LVSC’s owner-managers are quite interested in the price they could get for their shares. 
Replying that you need some data to be able to fix a price, here are their answers: 

– The firm expects an average (constant) EBIT of € 300’000 during the first 5 years. 
From year 6 onwards, the EBIT is expected to be at € 400’000 (year 6) and to grow 
at a 3% rate thereafter. 

– The firm has a debt burden of € 950’000 (the debt already exists and will be 
maintained in the future at that level. No flotation costs have to be considered) 

– The corporate tax rate is 34%. 
– After asking to different sources, it came out that the marginal borrowing rate 

could be fixed at 9% for long-term projects. 
– There are 100’000 shares. 
– The current debt-equity ratio (in market values) is 1/3. 
– They estimate that, since this is a private company with a lot of asymmetric info, 

the amount of potential “informed investors” in the case of an IPO would be around 
20%.  

In addition to that, login yourself to a market data provider, you find the following 
information: 

– The current price of a 5-year 0-coupon European government bond is 76%. 
– The market premium is 6%. 
– The volatility of market returns is 20%. The volatility of returns on prices of similar 

companies is 32% and their correlation with market returns is 0.75. 
 
IMPORTANT: The following questions present a “chronological” computation of the 
elements of valuation. But in order to avoid interdependence between subquestions, 
i.e. a subquestion based on the result of the previous one, use the “preferred” value 
indicated for each previous subresult in each subquestion. The value indicated is a 
round value to make things simple and to allow you to continue the exercise in any 
case. This value is never equal to the real solution of the previous subquestion(s). 
 
(c) What should be the required return on equity for the shareholders of LVSC? (2 points) 

Answer : 
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(d) What is the required rate of return on the assets of this firm and the WACC? (3 points) 

Values to be used for this question and the following ones: 
– ke = 14% 
 

Answer : 

 

 

 

 

 

 

 

 

 

 

 

(e) What is the (total) unlevered value of LVSC? (4 points) 

Values to be used for this question and the following ones: 
– WACC = 11% 
– ka = 13% 

 

Answer : 
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(f) What is the (total) present value of tax shields? (4 points) 

Values to be used for this question and the following ones: 
– Vu = € 3’000’000 
 

Answer : 

 

 

 

 

 

 

 

 

 

 

 

 

(g) What is the price per share? (1 point) 

Values to be used for this question and the following ones: 
– Vts (Present value of tax shields) = € 800’000 
 

Answer : 
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(h) LVSC’s owner-managers ask you if that is the price per share you would really 
recommend as the offering price? After some sensitivity analysis on prices in the 
industry and in the valuation of the shares of LVSC, you estimate that the price per 
share could be in a range of [-25,+25] around the price/value per share estimated 
earlier (please use the “preferred” value here below) and that any value in this 
interval is equiprobable. What is your final offering price to the market? (4 points) 

Values to be used for this question and the following ones: 
– Average value per share = € 40 
 

Answer : 

 

 

 

 

 

 

 

 

 

 

 

 

(i) Is you answer to subquestion (h) enough to explain the evidenced underpricing of 
IPOs? Comment. (3 points) 

Answer : 
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